Homework # 8                                                                                                    SCI 1300 


Name:_____________________________                                     

In 1610 - using a telescope - Galileo Galilei discovered four moons of Jupiter: Io, Europa, Ganymede and Callisto. Kepler’s Third Law also applies to moons orbiting planets, albeit with a different ratio. 

In 1979, Synott discovered the 16th moon of Jupiter, and named it “Metis”.

(1) Complete the table below using Kepler’s Third Law:

	Moon 
	Mean radius of orbit (in 1000 km)
	Period of orbit (in Earth days)

	Io
	422
	

	Europa
	671
	

	Ganymede
	
	7.15

	Callisto
	1883
	16.69


(2) Metis’s mean distance to Jupiter is 128,000 km. What can you say about its orbit’s period?
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